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Abstract

This paper discusses the number of solutions to a combinatorial problem and makes a square, which we
term “Pascal square.” After the number of combinations within the square undergoes the congruence by
natural numbers, we observe and deduce the consequence.

Different colors are assigned to different remainders after congruence, and they form some special
graphs, such as “Courtyard of Education Building series” and “chessboard series.” We investigate the
regularity of these graphs and count the quantity of each remainder.

We use Lucas’s Theorem and the coefficient derived from the expansion of (1+x)" along with
multiplication rule as the tool to count numbers, and we devise a formula for counting the consequence of

any number of combinations undergoing congruence by the power of a prime number.
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[Lucas’s Theorem] 45EIE&REE r~ m > Hir<m - 35 p BEBER

k
{m:mkp +eotmp+m,

: R Cr =G -GG mod p o
r=npt+tnptr,
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N, (3,4)=0 N, (3,4)=2%""
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FH Lucas’s Theorem %1 > Cy =C,;’_"12 =C, xCIf_‘f =0mod p -
Sp=kpriv i=0,12p=2 » k BIEEE > Bt =(k,i),
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KPFEZRT] ) WTZFEEER (p-D)" <~ ROZFEEER (1) - (p-1)"x* - FEEETEE
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BN, (0,p)=1-1 - H[5FE 21501 C 2 = (-1 -(k+D)mod p » H
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UEHE 21 B AIRET R TR E A ) S ERBAIEEL -

S}

16) 22 34
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(=0 k=) [} f=) R [ ) fel R =2 1= 1 =2 k=]
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34) 3(24) 1(8) 4(16)
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—lwlwl—=lol |—]|—=|o]o)—|w|w |~
SN Ll Bl N E=N F Rl REE o Kl ISR R

Wlh|ph|lw]ol= |wW|w|l—=|lolw|s|d|w
S|lo|WwW|lw|w|w | ||—=]|—=]|—~]|—=]|—=|—
olo|lw|w|lw|lw | |[=]=]=]—=]|=]|~
olo|lw|lw|lw|lw v ||=]=]=]=]|=]|~
olo|lw|lw|lw|lw | |=]=]=]=]|=]|~
S|lo|WwW|lw|w|w | ||—=|—=|—~]|—=]|—=|—
olo|lw|w|lw|lw | |[=]=]=]—=]|=]|~
oflolalnla|n|—|—|w]|w|w]|w]|w]|w
o|o|R|R|R|R|=|=|lwW|WwW] W] w]|lw]|w
ol|lo|h|R|R|R|=|m|lw|w]|w]w]|lw]|w

—lwlwl=lcoo |~~~
el B B e K=0 RN e
[\S}
(=}
—lwlwl—=lole |~ |~

w
(=}

%6 1 T HRPREZRIIBMS | AT R THRFRERSIBMS | %%

[EH 2] s p WEE > n~ IRERE > Hpxl=n+2 ~I<p > S (txs,p)=4"
Hepr~ s=a-C7' ~ a=1,3,5,p=2~ j=0,1,-- /-1
S 54N, (L p) =2 > Htr=a-C]" ~ a=13,,p=2~ j=0,1,--,/-1 >

&S, (txs,p)=N,(t, p)xN,(s,p)=4 > Hit,s=a-C;" ~ a=13,-,p-2 ~

j=0,1,---,1—1 e

PLTBRFEZS 3IMIL | & > p=11~1=3 » n=31 - FFIREBAVERE T A R

1,3,5,7,9 ~ 2,3,6,7,10 ~ 1,3,5,7,9 &I 2 20 > ffijlx1 ~ 10x10 ~ 2x6 ~ 5x9%% 11 [FE565 1
s HEH 412840 &S, (1L11) =4x(4+1+2+8)=60 ; [EHE1x2 ~ 3x8 ~ 4x6 ~ 5x7
S Ox10%% 11 [REvaR 2 HEHE 40012~ 440 > #S,,(2,11) =4x(4+12+4)=80 - DLt
JTIEAME ] ARG B At BR B (S TR RIS T B R R ST BV E Y S fic iy 2% -
(=) TR Z5 ) AMHEARTRE -
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& BQA — S EER R R 0 o 40 T[E 22 © 34M7 > T[E 23 @ 54MI1 -~ T [E 24 © 76M11 |~
- HRRREL THEARAR 2, B -

B22 1 T 4k 7134MT [E23 Tk 5154MIT [Bl24 - THE R R AIT6MIT
BLTE 22 ¢ 34M7 ) 2 > IS —30 5 -
GGG - [4[5]4] [+ IGTNGIGINGT + |3 [+[3]+] [ + INNGHIGINGH
7 8 1 34M7
HMBIZEEEn=34 ~ p=7 > [N34+1=7x5 - gt/ ilRiE—FIra 7 B8 - 3%

PrEk 5 4H2kEIZE > HhgE—2H G =C'=C =C =1mod7 ~ C*'=C =C* =6mod7 » &
e E R E A A FENY IR A o N TR BB L 88 B A 5t 2 HERFIRE Rk iy AH L fy
FFEL - FRTHE TR L] ) AIEOAEE S ERYEERE - AU TR o R

o 3433 _ (CDx(-2)

2

Clmod7 ~ ¥ =34x33x32_ EDx(=2)x(=3) _
2X1 2)(1 3)(2)(1 3)(2)(1

B E—F M n+1=pxl > H p>1 > DUN[G[EE S]~E1HE TR 2REREHE 2519 2% (E S -
[S1# 5] 2% p BE# > AIC/ ' =(-1) modp * k=0,1,2,--,p—1 ¢

—1=6mod7 * H

sepp s oot 2 (P70 (=2 (k) _ (D (2) (k)
§ Sk k-(k-1)--1 k-(k=1)---1

(S 6] 3p REE  n~ I BEAE > Hn+l=pxl ~ p21 > AIC #0mod p *
k=0,1,2,---,n o

=(-1)'modp -

s L en=pxl-1=(-Dp+p-1=pxi-1=(1-1,p-1), > &k=(a,b),
Hk<n=0<a<l-1->0<b<p-1 - [ Lucas’s Theorem %] *
Cl=CI'""'=C"'xCI'" #0mod p -

(51 7] & p WEE > n~ IBEARE > Hn+l=pxl > p21 > HIC' =(-1)"-C_ mod p

s Hi(k—)p<i<kp—1> k=0,1,2,--,] > a=i—(k—-1)p °
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SE  on=pxl-1=(-)p+p-1= pxi-1=(1-1p-1),
Hk-DYp<i<kp—1=(k-l)p<i<(k—-1)p+(p—1) » [ Lucas’s Theorem %]
C'=C'"'=C-C""'modp » Hf11<k<l ~ 0<a<p-1-~a=i-(k-1)p
FI[S [ S)E1CP = (1) mod p » #C =(-1)*-C,\mod p °

TE[5 1B 715 > a INVEFITEHERT. (BT SE A E AV 248 - DUERETE - B4 ¢ 34+1

=7x5~8-(2-1)-7=1 > C' L _EERAVE 2 # » C*=(-1)'-C; | =—4 =3mod7 - B

TSRS 2T S EBRANER BTSRRI o DL T 25 1 14M5 ) Bl 14+1=5x3 > p=5 -

[=3 > BIEE 1 5lul4y 3 (AR - &3 EEn B R En 6 | 20 B[ 4@
a1 e a2 5 e e 2
- IONNNBEEBBNDANL
SEET > %1 3ERNVETIH iR EELEL e
L BB e ] | 169 | 208) BU2) 424
%C5451‘q1454m0d5,%2@% 2[s]2]3 24l 4] 1 [4]2]3]2]3]2
s 3 @ @ a2 3] 23
. " o s NEBBBDAONNBBBEBE
BT RlE G =(-1)" -G =2 SRR EDELNEEEEE] 200 208 | 49 16| 302
232 2 @ [ 2 3252
" L e IO NBBBBEENNNAE
Cs E(—l)'C2_153m0d5’EEr%§9J w e a2 e ) ] 2@ 302 16 [4&] 2
IONNNBEEBBNDRNL
L EEREREEDENE] 2@ 2 | 302 (28] 106)
K114 FEEHT-RIEJTE modS 88808y Frmh bht s
S, (1,5)=64 ~ §,(2,5)=52 - B25 ¢ T HHARAE ZI14MS 91 THURIEZII14MS | %1%

$14(3,5)=48 ~ 5,,(4,5) =61 - LUNELI Bay ¥ p=1~ p > WTEIFIAREL Y]
[EH 3] & p BRI 2EVEH > n~ L REZRE > Flen+1=pxl > Ep=1H]

n+2n+2 n’+2n
Sn(Lp)=T * S, (-Lp)= 5

o

S5 L on+l=pxi=>n=pxl-1=p’-1=p(p—-D+p-1=n=(p-1,p-1),
F1 Lucas’s Theorem %1 > C/'=C?"'xC} ' 'mod p » Hfi=(a,b),
a,b=0,1,---,p—1 > 5 SHIC" =(-1)*x(=1)" =(=)“"mod p * &
C'=lmodp » & i fB# ¢ =-1lmodp » &R i w78 > i

n+l1+1 n+2 n+l-1 n
N (1,p)= = N (-1,p)= _n

n+2 2 n 2 n’+2n+2 n+2 n n*+2n
S, p)= + = =—~ S (-1, p)=2x X — = o
”(p)(2j (2] 2 (L) 2 27 2

[EH 4] 3% p BB n BEARE  Wen+l=pxl~ p>1 > I 3&FH - Sa=p*+1 -
-3,

b=p> -1 JIS,((C).p)=2a - S,(~(C").p)=2b CHF=01



S,((CFp) =5~ 8, (- p) = Hapi =2
Sn(Cf’GCj’l,p)=4a . Sn(—C’f’GCj’l,p):4b s Hhi>j ~ ,j=0,1, 173 ;

Sn(c,'l_lxq_l,p)=2a . Sn(—C[I_IXC;_l,p)=2b ’EEP:':O,I,---,% . ]-:Z_l

el wn+l=pxl=>n=pxi-l=(-Dp+p-l=n=(1-1,p-1),
FH Lucas’s Theorem A1 > C!' =C,'xC/ " modp > EHi=(a,b), ~ a=0,1,---, /-1 ~
b=0,1,---,p—1 > H[GE SIHC' =(-1)’xC " modp > L C'=C" modp > & b FiH

¥ C'=-C'modp - & b & HRNCG ' =C ~ ¢'=C5 ~ >

BN, = E k2= pt N (O ) = 2= pet s Hbti— o1 22
Nn(Cl,"l,p)=p_+1 . Nn(_ci""p)=p_1 ,ﬁq:izﬂ :
2 2 2
I-1\2 2 2 2 . -3 .
S,((C%p)=(p+1) +(p=1) =2p*+2=2a » He1i=01-,—= ;
I-1\2 2 -3 .
S, (HCYp)=2x(p+)x(p=) =2p" =2=2b > Hii=0,1,,—= ;
s, ()= 2] o[22 22 e
PARE S 2 2 2 2
1 -1\ _p*-1 b -1
S (~(CY, p)=2x| Z <[ 22 | 2220 =t
L(~(C7.p) (2 : =5 =
S,(CI'xC p)=2(p+1y +2(p—1)’ =4p* +4=da » Htfi>j ~ i,j=0,1,- 173 ;
e o -3
S,(-CI'xC p)=4x(p+Dx(p—1)=4p* —4=4b > Hti>j ~ i,j=0,1, R
-1 -1 2 2 2 . l_3 . l_l .
Sn(q XCJ' ap):(p+1) +(p_1) :2]7 +2=2a ’;E\:qjl:oala'”a 9 * ]:T ’
I ) , -3 . 1-1
S, (~CI'xCl p) = 2x(p+ Dx(p=1)=2p 2220 + Hepi= 0L 5 s =

()T R ERBHI(EEL -
Y Lucas’s Theorem {EFREUEEHIVATHE N A RL - HLL N n FEERTRIEJTH mod
23 5 orRlETEm AR o MBRECE 4 ~ 6 Rif M7 — 5T 5R05 7% > HEREGE S 6 iy
 BREIIIEIPEN S - BEET EIVFRK - B -
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1.Mod 2 :
FH Lucas’s Theorem %1 » DLCP = » 23=1-2* +1-22+1-2' +1-2° ~ 5=1-22+1-2° » f[J
23=(10111), ~ 5=(00101), » ¥ C¥ =C,-C)-C|-C,-C} =1 mod2 ° 1E5 23 FIEHT £ =75
A 23+1=24{8% > BICY > k=0,1,---,23 » $HMERHICP - 7115
CP=C-C)-C'-C,-C mod2 » Hf10<a,b,c,d,e<1 - [HC,=C =C)=1~C’=0 - Bl
a,c,d,ec{0,1} ~ b=1> BHIEH 2x1x2x2x2 =16 {EEHE 2 Bres | - gt 23 B9 iEfr
ForEF 23=(10111), » 1 VAR 4 - ANSTIRKAEH 2° = 16 [HEE 2 Frek 1 i HEME
AT o TTEYIHE 2 BRés 0 AVERUH & /2 24 - 2° =8 - #% 2 FRéR 0 MVHAEb=10F » Al k
(Y HERr T E b = (x1xxx), » 53 HI 5 (01000), =8 ~ (01001), =9 ~ (01010), =10 -
(01011), =11 ~ (01100), =12 ~ (01101), =13 ~ (01110), =14 ~ (01111), =15 » R E{T—FI
F—EEE K G+ 1(01000), =8 EFEZIEFINYEE 8+1=9 (E%L » KIELEE 23 FIIHE 2 Fiék 0 5%
FAEHAE R 9~ 16HH -
REHT-RIER I EHEEREIA G < C) > 3 Cl =a modp ~ C/'=b modp > HC; xC/

=axbmodp - NIt > 5 C/ =C'=1 mod2 > HIIC xC' =1 mod2 ; HERFILC/ xC'=0

mod?2 - FFHEEME » 7[>k1E 23 [EE 1(16) 0(8)

Hr-RIEJTI 3L 576 (HE#: 2 Frér 0 20 1 HY
G- w1 TR 10, Fow 0 23 FEEHTRIE

1(16) 1(256) | 0(144)

77 mod 2 B 1 256 % - &% 0 312
{E# - BIN,,(1,2)=16 ~ N,,(0,2)=8 ;

0(8)| 0(144) 0(64)

S,,(1,2)=256 ~ §,(0,2)=312 - 101 T23PEEEFRIETFmod 2
[B26 M 23MEEHTRIE Amod2 | BRI E S

UEEE 5] 3% n 9 " HEMFTRERy n=(my,my,my), » Hftm, €{0,1} » i=0,1,-k -
Sa=m+-+m+my o QIS (1,2)=4" + §,(0,2) =(n+1)* -4
S5 : H Lucas’s Theorem 41 + 25 n BUESHT-F = Ffiifs 2 (MM 2 i 1 »

BIN, (1,2)=2" » & n FEEHTRIETTIZA 24 < 2° = 4" (%047 2 BRék 1 -

H1S,(1,2) =4 > Ff 2 BRER 0 (n+1)> =4 > H1S,(0,2) = (n+1)’ —4° -

2Mod 3 :
TSR 23 FI BT R = AT BH] - 23=2-37+1-3'+2-3° > §123=(212), - ILH]E—

SECP » k=0,1,-,23 WGP =C2-Cy-C) mod 3 » HrpIFEER a b - L
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0<a,b,c<2 - WIC =C;=C'=C=1~-C=0~C=2>H
CP =1 mod3 Ha,ce {0,2},b e {O,l}ﬁazc:l,b S {0,1}
C’ =2 mod3 Ha=1,be{0,1},ce{0,2}c=1,ae{0,2},b€{0,1}
C7 =0 mod3 HAh,

FITLASS 23 FIRIHIEHT R =AIPA 2x2x2+1x2x1=10 B8 3 Frék 1 ~ H
Ix2x2+2x2x 1=8 [ 3 FRéR 2 ~ 5 24-10—-8=6{EE (Y 3 Prés 0 - TR EIAETHE -
Wi 3 BRék 1 0% > SEEAEIEBEEIEN1,3,4,6, 11 IVLE - 5 3 BRER 2 15 > SE4E1E5E 23 FIEH
SEIRES 2,5,10,12 (L F » HERAILE R 3 FRER O -

LI21111{211]0]0J0(2[1[2]2]1(2[0[0]Of1{2]1[1]2]1
%1118 23 FIEHT-R =747 mod 3
CI'xC!'=1 mod3 ZC!'=C' =1 mod38C! =C' =2 mod3
BB C xCl =2 mod3 5C! =2,C" =1 mod38kC! =1,C! =2 mod3 » FfiE
C!xC'=0 mod3 XAt

EHEE - 3kEs 23 [EETrRIET P 10y | 2 | o)

FE576 B 3 Prik 0~ 1 22 AU
B 0% 12 Aon > 23 [EERTRIETS

1(10)| 1(100) | 2(80) | 0(60)

T mod 3 8% 2 /5 160 {EE ~ 85 1 28) | 280) | ow4) | 0@

A 164 {E8 - && 074 252 (&% - B
N,(2,3)=8 + N,y(1,3)=10 ;

06) | 060) | 0@48) | 036)

R12: T BWEEERES
$,,(2,3)=160 ~ S,,(1,3) =164 ~ B27 ¢ O3B RIS mod 3 mod 3EHEIES

S,,(0,3) =252 -
[EEE 6] 5% n =M TR ERn=(m, - m,my), > Hrfm €{0,1,2} > i=0,1,--k -
S a Bym =200RE ~ b Bym, =109KE > HIN,(2,3)=2""%x(3"~1) -

N, (1,3)=2""x(3“+1) ~ N,(0,3)=(n+1)-3x2" -

N . . o |n=m3 +---+m3+m, y
sgH © FH Lucas’s Theorem A1 » #{MEEC, » 8% ' H
k=k3 +---+k3+k,

Ci=Cr G- mod3 » Hrfim, ~ k RIFEEEHEO0<m k<2 -
2% C; =1 mod 3 DVERFTAR m, = 2 -PEL RSB (E £, < (0,2} > KL
PSR =1 ELEEIm, =10k {01} ~ m =01k =0 - Fjk
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N,(L3)=2"x(2+C{2 2+ C{2 4 + G2+

=2 x2° (1+2—1zc; +2—14c7;; +] :2bx2“x%((%)“ +(%)“j:2blx(3” +1)

BlZ2 C) =2 mod 3WVERFTARI m, =2 HEEEIE &, € (0,2} » REPHIEL
Bk =1 B m =18k e{0,1} « m =0tk =0 « Ft

N,(2.3)=2"%(C2" " + G2 + Ci2 " +Cy 24 +-1)
1 1 1 (3., /1
=252 P+ 5 G+ Cf o | =27 X2 x =] (5) = (2)" |=2""%x(3" -1
(2 1 23 3 25 5 j 2((2) (2)j ( )

N, (0,3)=(n+1)—-2""'x3 +1)=2""'x (3 =) =(n+1)—-3“x2" »

[EHE 7] 3% n =M FE B n=(my,-- m,my), > Efim e{0,1,2} » i=0,1,--k

S a Fym =200~ b Bym, =109KE > JIS, (2,3) =2x4"" (9 1) ~

S (1,3)=2x4""%x(9°+1) ~ S (0,3)=(n+1)>—9“x4" «

SSEA O HHER 641 0 S, (2,3) =2x2"" (3" —1)x 2" x (3" +1) =2x4" x (9 1)
S,(13)=(2""x (3 +1)) +(2" x (3" ~1)) =2x4" (9" +1)
S (0,3)=(n+1)* =2x4""'x (9 =1)—2x4"" x (9 +1) = (n+1)* - 9" x4" -

3.Mod5 :

e 5 ERAVERECTRE Ry 4 ~ 3~ 2~ 1~ 0 RIEETR G 1 5 BRAVERE Z (HHURF B85 - 5%
n=(m.,m,_,..,my)s > Hfm, 6{0,1,2,3,4},i:0,1,...,k oS a~b~c dirHlEm =4~3~2>
1 BYZ#; > B Lucas’s Theorem 4 :

Gy =(CH)" %(C})' x(CH)* x(C,)" mod5
Horr CH oy x BIRE Ry 0~4 0 BR DL CH AR - BREJEHE -
RCl=Cl=Cl=C=C}=C=C}=C,=C'=1-C’=2-C'=C=3- C'=C/ =4mod5 >
i C; =4%x3 x2" x1° mod5 » Tk e, B, 7,6 AT RIFTEW: 5 BRIVEREIFMETE > H¥ &
4 =485 13/ =348 28 1~ 27 =28043%3 5 | mod5 > SFRIERBHAIT :
54 -1

1.4 =4 {EC a1 > C ~ CHEZEIR > 3202037 400203 4= . =
4=l IECHEa R G OB 03 123 =2

18



2.3 =3 1IECH DR G~ GH4+IR

Cr2' 2"+ 202" 4 =2 (O + CU 4+ O +-+) =272 (2 —(A— B)i ) T

=4 IECH DT C - CGH4+2R

Cy2* 2" 4 G202 e =2+ CL + Gy ++) =27 (2" —(4+ B) ) T

=2 t{ECH DR C - CGH4+3R > H

G222 401272 4+ =22(CY 4 C) + C +0-) =277 (20 + (4 - B)i ) T

=1 fECHEIRF G~ CH4R 3

G2’ +Cy2t 2 4 =2 (G + Oy + G 4+ =272 (2P +(A+ B)) T > BEBRME b > 14 BRIL >
HftA=1+i) ~ B=(1-i) -

3.0/ 22 P {ECCH e T AT Ak+190 0

Cf2"“+C§2C‘5+-~~=2C(Cf(%)+C§(%)5+~--j: (C-D—(E-F)i)f#
V=4 FCHcRF > CHA+2R > 4

crc-2 cnc—6 c c 1 2 c 1 6 1

Cs2 7P+ Ci270 =2 CZ(E) +C6(E) +oee :Z(C+D—E—F)@
=3 fEC H e R CCPH4k+3R > H

c~c-3 cc=T7 c c 1 3 c 1 7 1 .
Ci27+CE27 4+ =2 C3(5) +C7(§) +oe =Z(C—D+(E—F)z)@
2 =1 ECEE e R CPAT Ak T - 4t

Cs2° +C2’2"‘4+---:2C(C§ +Cj(%)4+---j: (C+D+E+F)T&

SN

» HiC=3« D=1~ E=Q2+i)° ~ F=(2-i) °
C§2”+c;207+---:2€[c;(%)3+c;(%)7+---j:i(c—D+(E—F)i)@
V=1 FCH kT CHM4R
ngc+C§2c-4+-.-=2°’(cg+C§(%)4+~~j=i(C+D+E+F)@
» i C=3« D=1~ E=2+i)° ~ F=(2-i) °

[ 8] 3% n FHEMIFE B n = (m,m_,,....my)s » Him, €{0,1,2,3,4},i=0,1,...k
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Sa~b c~dooRlEm =4-~3~21HRE

Hb=0 Hl

£
a5

N,(1,5) =27 (53 + 1)+ (2+i) +(2-i))
N (2,5)=2""(5"-(3° =1)—i(2+i)° +i(2— ))

d
N,(3,5)=2/7+(5"-(3 =) +i(2+i) —i(2—i) )
(5

N, (4,5)=2"7(5"-(3 + )= (2+i) —(2-i))

N (1,5) = 2942072 .3¢ .50 4. p+0=2 -((1+i)”(2—i)f +(1-i)" 2+i))
N,(2,5)=2"7"7.3°5" 12002 (14+0) (2 —i) —(1=i) (2 +i)° )i

-l | °
N,(3,5)=2772.37.54 4. 272 (—(14+0) Q=) + (1=0)’ (2+i)° )i
d

N, (4,5)=272"2.3°.57 22 (1 41)* (2=i)° +(1-i) (2+1))

R RE 4T ~ 37~ 271 5 BRAVERE - ZHUMHTRIGFRE 5 BRER 1 BVETDA IxIx1

1x2x3 ~ 1x3x2 ~ Ix4x4 ~ 4x1x4 ~ 4x2x2 ~ 4x3x3 ~ 4xax1 J\FHEN - 5
b>1 > Nn(1,5)=2”””’5-(5”+1)~{(2”+(A+B))-(C+D+E+F)
+(2" +(4-B)i)-(C—D+(E-F)i) +(2" —(4-B)i)-(C—D—(E-F)i)
+(2’~(4+B))-(C+D-E-F)|
#2775 (57 -1)- {(2b +(4+B))-(C+D-E~F)
+(2" +(4-B)i)-(C—D—(E-F)i) +(2" —(4-B)i)-(C—D+(E—F)i)
+(2”—(A+B))-(C+D+E+F)}
=217 .(5*+1)-(2"-C+ AF + BE) +2*"7 -(5" ~1)-(2" - C— AF - BE)
=21"7.5".2".C+2""" .(AF + BE)
=213 5 L 21 (1) 2 —i) +(1-D)" (2+0)° ) - [FELATS
N,(2,5)=2"2.35 42072 (1+0) 2 =) —(1=i)" (2 +i)° )i
N,(3,5)=21"2.37.5" 4212 (—(1+0) Q=) + (1=i) 2 +i)° )i
N,(4,5)=21202.30.5 212 ((14+0) =) +(1-D)" (2 +0)°)
#b=0> N,(1,5=2""-(5'~1)-(C+D-E~F)+2"°(5'+1)-(C+ D+ E+F)
=27 (5(C+ D)+ E+F) =27 (5" (3 + )+ (2+i) +(2-i))

EiEEEIEGS
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Hb=0 > Hi

N,(2,5)=2"7(5"-(3° =) —i(2+i)° +i(2—i)")
N,(3,5)=2"7-(5"-(3 1) +i(2+i) —i(2—i)")

N,(4,5)=2/7 (53" +D)—(Q2+i)" —(2—i)) -

[EHE 9] 5% n BYFLHENIFRIE Ry n = (my,my_y,..omy)s > Him, €{0,1,2,3,4},i=0,1,....k ©
a~b~c~d5RlEm =4~3~2~119RE

S,(1,5) = 2% (5% -3 + D)+ (2+i) +(2-D))

S (2,5)=2%"7(5

2. 3% =) —i(2+i)* +i(2- 1)2‘)
2. (3% — D) +i(2+i)* —i(2— z)ZC)

B4 -2+ -(2- 1)26)

{
S,(3,5) =277 (5"
S, (4,5) =27 (5™

S,(1,5) =277 .32 . 52 L 2R (14 ) (2 - i) + (1-i)" (2+1))
8,(2,5) = 2247232052 4 202 (140) (2 =) —(1=i)* (2+0)* )i o
5,(3,5) =22 3% . 82 £ 202 (14 1) (2—i) + (1=0) (2+0) )i
S,(4,5) =222 32052 20 (14 1)P (2— 1) + (1-1) (2+))

» Hif

S Ebh=0 S,(1,5=(N,(1,5) +(N,(4,5) +2N,(2,5-N,(3,5)

=27 (5 (3 + 1) + (2+1) +(2—i) +2:57)
#2207 (52 (3T = 1) +(2+0) + (2—i) —2-5°)
=27 (5 (B + D)+ 2+1) +(2-))
EEZEIES:
S.(2,5) =2N,(1,5)-N,(2,5)+2N,(3,5)- N, (4,5)
=277 (5 (B~ D) —i2+i) +i(2—-i)*)
S (3,5)=2N,(1,5)-N,(3,5)+2N,(2,5)- N, (4,5)
=27 (5 (B~ +i2+i) —i(2—i)*)
$,(4,5=(N,(2,59) +(N,(3,5) +2N,(1,5)-N,(4,5)
=27 (5. (B + D) -2+ —(2-i))
HEb21- S,(1,5)=(N,(15) +(N,(4,5) +2N,(2,5)-N,(3,5)

— D2d+4b-2 3¢ gla | 2d+2b-2 _((1+l-)2b (z_i)Zc +(1 _l-)zb (2+i)2c) ,

21
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[E A1

S (2,5 =2N,(1,5)-N,(2,5+2N,(3,5)-N,(4,5)

_ 2d+4b2 32 524 | A2d+2b-2 ((l+1)2h(2 )2c ~(- Z)Zb(z_H)zC)

S (3,5)=2N,(1,5)-N,(3,5)+ 2N, (2,5)- N, (4,5)

=277 (5 (B~ +i2+i) —i(2—i))

— D2d+4b=2 3¢ gla | A2d+2b-2 (_(1 + l-)2b (2- l-)Zc +(1- l-)2b 2+ l-)zc )i

S,(4,5)=(N,(2,5)) +(N,(3,5)) +2N,(1,5)- N, (4,5)

— D2d+4b-2 3¢ gla _ H2d+2b-2 ((1 + l-)zb 2- l-)zc +(1- l-)zb 2+ l-)zc ) o

5 T13 1 23M5 | For

23=(4,3), >a=1,b=1,c=d =0 > #
523(1,5)=2252+((l+i)2+(1—i)2)=100 .
5,(2,5)=2°5 +((1+i)’ —(

1=

-’)i
(1—i) —(1+i)’ )i =1
)

1(6) | 2(4)

3(6)

44 | 04)

1(6)| 136)| 2(24)

3(36)

4(24)( 0(24)

2(4)[2(24) [ 4(16)

124)

3(16)| 0(16)

3(6)| 336)| 124)

4(36)

2(24)| 024)

4(4)| 424)[ 3(16)

2(24)

1(16)| 0(16)

S,:(3,5)=2°5"+ ( 0)| 024)| 0(16)| 024) | 0(16)| 0(16)
F13 0 T23[EEHTRIEE
5,3(4,5) =25 —((1+i)’ +(1=i)*) =100 o |28 "3RI FIETmod s, mod SERHATIER
4 Mod 4 :
AT R =AIPHE 23 F1RE1 - 23=(10111), » AlB(n)=4 ~ C(n)=1 ~ D(n)=2 -
FH[Pascal’s Triangle Modulo 4151 N,,(1,4) = N,;(3,4) =2"" =8 ~ N,,(2,4)=1x2""=8 -
LI3(1(3(3(1|3|11(2(2(2]|2|2|2|2(2|1|3|1|3(3(1|3]1

= 14 TEHR=/AFE 23 5 mod 4

C/xC'=1 mod4 #C;=C/=1 mod4EC; =C/'=3 mod4

R ClxC'=2 mod4 #C; =2,C =1 mod4EC; =3,C =2 mod4 > FIHE H 15 23
C/xC'=0 mod4 C/=C'=2 mod4

FEEHT-RIETTIEHE 4 BRER O

B¢ 3 HY(ES - 40 TR 15, iR mod 4
B% 374 128 % ~ &k 2 45 256 {El%L -
&% 1A 128 {E% ~ &% 075 o4 {E& - 8l
S,,(3,4)=128 + 8,,(2,4) =256 -

S,,(1,4)=128 ~ S,.(0,4)=64 -

[&]29 -

F23[EEHT-RIET Pmod 4 |

1(8) 2(8) 3(8)

18) | 164) | 2(64) | 3(64)

28) | 264) | 064) | 2(64)

38) | 364) | 2(64) | 1(64)

#15 T B[EEYRIEHF
mod 48REAV(E L

22




[EHE 10] 5% n N TR ERn=m,, - m,my), > Hhm E{O,l} v i=0,1,--k %
B(n)=my +---+m +my ~ C(n) Fym AIHEFHIT 10 FYREL ~ D(n) Fym AIHEFHIE 11 #Y

KEg - FHDm)=0 > HIS (1,4)=4"" ~ S (2,4)=2C(n)x4"" ~ §,(3,4)=0 ;

EDm)>0 + 5,04)=4""7 + 5,24y =Clnxa" ~ 5,3,4=4""2 ¢
Z6HH © Hi[Pascal’s Triangle Modulo 4%
(D) =0 > S, (1,4) =25 x 250 = 45
S (2,4) =4x2°" x C(n)x2*"™" =2C(n)x4*™ ~ §,(3,4)=0 -

B(n)fé

(D)D) >0 > S, (1,4)=S5,(3,4) =2x 2" % 28" =4
S (2,4) = 4x 25D 5 C(n)x 257 = C(n) x 47
T~ AR B G BB BT Pl R E(8]
[EH 10]HV45 52 A H Mod4 BREHHEEMEIELR - (HIEKAVER C' mod 4 HYEREY -
S—J7H > FfE IHARIERE T BREHE G mod 4 Y45 FINE —LLILHE -
(—)Mod 4 :
HHE (1+x) = 1+4x+6x> +4x* +x* =142 +x* = (1+x*)’ mod4 » [FELAT{5
(14+x)° =142x +x° = (1+x*)’ mod4 ~ (1+x)" =1+2x2 +x* = (1+x2)’ mod4 -

4k

2
EB%Q%E%%W%K%’&?%%D(IHC)L‘k E(sz} mod4 o S n=(my,-m,my), » Hr

m e {0’1,2’3} ' i 0,1,"',k , %f%(l+x)n E@%Eﬁfﬁ Zn:qn i :(1+x)n _ (1+x)mg4°+m]4‘+m242+...+mk4k

i=0

2my,
0 1 K m m 4" ‘
= (L) ()™ o (Lx)™ " = (1) ‘(1+x2)2 l'(1+x8)2 2 "'£1+sz

=(Cr +Cex+ Cx? + Cox’ ) (G + O + O+ O e+ O )
4k 4}; 2 4/( 6
-(cg'”z + O X+ O X e+ ijzx“g)-.- Co™ +CMx? +C™ [x 2 ] Hek O (x 2 j

=(Cragm -G )+ (G G )xH (GG - G+ G GG - G )X
my 2m, 2m 2m m 2my 2m, 3 m 2m, 2m 2m m, 2my 2m 2m, 4
H(CCIm G - G A OG- G )X H (GO G - G+ GGG - G ) x

+H(CCmCy - G+ ORI - G ) X

23



+H(CroCIm Gy -+ Gy + GGG -+ G ) X -

et A E b3 NP SIS
C/ =) Crm xCt x---x C2™ x C mod 4

Hepn=(m, - m,my), ~ n,€{0,1,2,3} ~ n,€{0,1,2,3,4,5,6} ~ i=1,23,-k o BZ 1 (IFR
2% P s 6=(0,3,0), =(0,2,2), ~ 10=(0,5,0), =(1,1,0), =(0,4,2), =(1,0,2), ~ Blliigke
t=ny-2"+n 2" +n, -2 +n, 20 +n, 2"+ 27 DLt =(ny,my,ny), TR o WAL
SHEC mod4 2 fH > 40 * AMATETER Cop 1 4 BRAVEREL ? (H43=(2,2,3), ~ 20=(2,2,0),
=(2,1,2), =(1,6,0), =(1,5,2), » #C =C/C/C, +C/C!C; +C'C!C, + C!CiC; =36+72=0
mod4 o B AMEAICS » 59=(3,2,3), ~ 37=(4,2,1), =(4,1,3), =(3,6,1), =(3,5,3), * ik

G =C.CC +CCIC + CiCIC + C{CEC) =270+ 60=2mod 4 - % A FAMEF Mod 4 #EEE 2

Mod p*

(Z)Mod p* :

(513 8] 3% p B/EH > HIC =0mod p* » Hf1i£0,p,2p.3p, - pxp °
) 2y1

ey =y

O (p*—i)!

- P M

. 2 .
%p+l£i£p2—1:>{i}+{p l}:1+p—2:p—1:y:2
p P

# C” =0mod p* » Hfii=0,p,2p,3p, - pxp °

(5138 9] 3 p BRI 2 (VB HIC, =Cmod p” » Hfi=0,p.2p.3p, . pxp °
B o _ @)@ =D (PP =p) (PP =2p) (P = (i=D)p) - (p’ ~(ip-1))
' ip)ip—)—(ip—p) - (p—G~Dp) 21
_ )@ —p)p’=2p)(p’=(=Dp) (P’ =D’ =2)-(p’ ~(ip-1)

(ip)ip— p)ip—2p) -+ (ip—(i~1)p) (ip—1ip=2)--1
_ 2P Dp=) - (p =) D) (p=D)
i-(i—1)3i-2)---1 (ip—1)ip—2)---1 "

24



» Hrfi=0,p,2p,3p, - pxp °
(505 10] 3% p - 1(1+x)" =(1+x") modp? - HefrkeN -

solH ¢ M HEEEEGE - 8 k=11 - B [ERR
(ler)p2 :lJrCl"2x+Cz”2xzJr~-~+C[’:22x”2
=14+ CPx? +COx* 4o+ COxV z(1+x”)p mod p® (%17

stk =nti > H(1+x)" = (140" ) mod p* BT > HIE k=n+10 »

2 2

2(n+l) p

(R (S e (L z((nxf“ )j
(Y (| ) (e

BRI (14 %) = (140" ) mod p? L ¢
%%(14'7‘:)” E@@ﬁﬁfﬁ ’ %n:m0p0+m1p2+m2p4+'”+mkp2k ’ Eﬂn:(mkamk—lﬁ"'amlvmo)pZ

(1) = (L) () ()™ (T )™
—(1+x)" .[(1”)”2 ] .[(1”)1"‘ } --.[(1+x)”” ]

(1+x)m0 ’<1+xp )pm' '(1+x"3 )me "'(1+x”2kil )pmk

(Cor +Cx+ Cyox +~-~+C,'Z°x’"°)~(Cé’m‘ +CPMx? + CPMx +-~-+C"’"1x1’2’"1)
0 pm

3 2 3 4 2k-1 ) 2k-1 . 2k )
.(COP”’Z +C X + O X 4+ O XP ’"2) (Cg”"‘ +CM P+ CYXTT A O

pmy
=(CreCym -G )+ (CreCym -+ O )x+(CreCm - G )2 4+ mod p?
B e I P YGRS
Ctn = ZC'Zm/: % C’Z’jk—l Koo X C'im] % C::;O 1’1’10dp2

/EZEF'n:(mk,---,ml,mo)p2 . noe{O,l,-~-,p—1} . nl.e{O,l,u-,p(p—l)} ~i=1,2,3,-k o

i

N

Bz t R EREt=n, - p' +n - p 0 plng - pP A, p e n - pP 0 DA

_l

t=(n,,n,ny), T o WILAMERETE C mod p* 2B » FI40 © a5 CL #: 9 BRAYER
2 N43=(4,7), ~ 19=(6,1), =(5,4), =(4,7), =(1,5,2), » W CY =C’C] +CPC] +C;*C]

=34683 =6mod9 - B KAYEAICS » 64=(7,1), ~ 28=(1,0,1), =(9,1), =(8,4), =(7,7), °
25



B C% = CHC =8mod9 - 1 FAREAHEF Mod p” HEEEZE Mod p" -

(=)Mod p" :

[53 11] & p BHEE /E\Ucipn =0mod p" > Hd1i=0,p,2p,3p, -, p" °

s ey =P ey
T T D)

{254
5157

F1<i<p-1>

7:(p"—1+p"‘2+...+1)_(0)—((p"_1—1)+(p"_2—l)+---+(p—l))=n

EH p+1<i<2p-12p+1<i<3p—1,--- » A y=n >

# C”" =0mod p" » Hf1i=0,p,2p,3p,--p" o
(58 12] % p BRI 2 (VEH > HICY =C” modp" > Hr1i=0,p,2p.3p, - pxp °
50 _ @@ =) =p)--- (P =2p) - (p" = =Dp)---(p" - (p-1)

(ip)ip=1)---(ip=p)---(ip—(i-Dp)---2-1
— (p")P" —p)p"-2p)---(p" —(i—l)p)x(p" -D(p"=2)---(p"—(ip-1))

(ip)ip = p)ip—2p)-+-(ip—(i=)p) (ip=1)ip=2)--1
2 D@ =2 () D) ) et
i-(i—1)(i-2)---1 (ip—1)ip-2)---1 :

’;H\:E'jizoapazpaiapa“'apxp °
G 13) #p B BI(1x) (100 modp > HekeN -

s iH MRS & k=11 - iS5 [EA
(1+x)p" :1+C1””x+C2”nx2+~-~+C5n”xpn

=1+C" x? +CF X +---+C5:lxp" E(pr),f mod p" %17,
n m—(n-| 1 p’H S NS
Bt k=55 B1(x)" =(1ex” ") mod p BT+ HIE k=185 -
n(t+l)

" a1 \P"
(1+x)p :(1+x)17 :(1+x)p K :((1+X)P )p E((l+xpt”(n” )p ]
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VA i \P" A\
m-n-2) \ \ P m-n-3) \ \ n-(n-n) \ \ P
S (| A (N S (X
w\P" a2\ " e \ P sty \ 2
=(1+x1’ ) s(1+(x1’ ) j =(1+xp ) =(1+xp )

AR (1 x)” = (1427 ") mod p7 + Bk eN -
HE (1+x) RIS > & s=mp’ +mp" +m,p™ +-+mp” > Bls=(mem . m,mg) |
(1) = (1) e (Y (L) (1)
=(1+x)™ -[(l+x)pn T -[(1+x)”2" Tz ...[(l+x)}’kn}

n-1 n-1 n-1
pm il \ P kn—(n-1) \ P Mk
s(1+x)m°-(1+xp) ‘-(1+x" ) ---(1+xp )

ny

(G + x4 Cox” -4 Clox™ ) (Cg’"fl’”1 O 4+ CF M g C , e )
.(C(f'HWQ + (:’lpnilﬂ’lz_x/.PnJrl + C2p"71m2 x2pn+l 44 C]I;I:l::zxpznmz ) e
(Copnflmk n Clpnflmk xpknf(nfl) n Czpnflmk xzplmf(nfl) T C;}:I::A xpmmk )
= (cg"o crmLL o )+ (C;"o crm.Lorm )x + (c;"v crmLL o )x2 +-- mod p"
LS A E R E ] 5

C =Y Cr X C e x CF M x O mod p”
;H\:E'j §= (mk:"’amlamo)pn tn, € {0517'“9]7” _1} Y h e {0:15"3]9”71(17” _1)} = 152935"'7k °
Eﬁg—%’ ¢ E@?%ﬁfifﬁ%ﬁt — no _pO +”1 .pl +n2 _pn+1 +n3 _p2n+1 +I’l4 _p3n+1 4 _+nk _p(k—l)n+l 5 Ly\
t=(n,em,my), Fm o AL EMEREHE G mod p" 2 & » 40+ AUAIEHE Cop 1% 16 BRAVER
B 7 N43=(2,11),5 ~ 20=(10,0), =(9,2), =(8,4), =(7,6), =(6,8), =(5,10), =(4,12),
=(3,14), > M Ch =CeC)' +C°CY + GG + CCY + C° Gy +CL°Cly =11538956 =12mod 16 -

SUBIISK Cop 5 27 BRAVEREL » 43 =(1,16),, ~ 20=(6,2), =(5,5), = (4,8), =(3,11), =(2,14),
= (1,17), =(0,20), » #{CE =CXC + CXCI0 + CICY* + CC' + CCI¢ = 2553300 =18 mod 27

27



FEBIAD © 3R Cloos’ #5 343 BRAVEREL - PNI10000 = (29,53),,; + 5000 =(2,%,x), = (1,%,X),

=(714,2), =(713,7), =---=(707,51), =+ =(666,338), » #l Cane. = C3’C>> + C22°CY

49x29 ~53 49x29 ~53 49x29 ~53 49x29 ~53 49%x29 ~53 49x29 ~53 __
+C, G + G T G5 +C TGy + g O +C 7 Cry +Ch 7 Cof =259%6+49x42 4147 %126

+245x210 +245%x210+147 %126 +49x42 +259x6=147168 = 21mod 343 -

(FMf)Mod 6 :

6 NEEH > & Lucas’s Theorem f&A{H A » FATrTFIH mod2 ~ mod3 HY4HE SR ELF ik

T (R (S BE DAY 7 A SRETE mod6 HYEREYL 141 © C2 =1mod2 ~ CF =1mod3
» AIICP =1mod 6 ;5 [EH C° =0mod2 ~ C* =1mod3 » HIlC,° =4mod6 - mod2 ~ mod3 &
mod6 FYEHIEZFRAN 3= 16 5 MEHTRIESTE mod6 HYEHEFRM "= 17 -

mod6 0 4 2 3 1 5
mod2 | 0 | 0 | O | 1 | 1] 1 O [0 ]0]0]0]0]0
4 0 4 2 0 4 2
mod3 0 1 2 0 1 2 2 0| 2] 4/0] 2] 4
3 0 0 0 3 3 3
m0d6 O 4 2 3 1 5 1 0 4 2 3 1 5
N 5 0 2 4 3 5 1

216 © mod6HERE FHmod2 Bimod3 1R & 15
17 BHrFIE 5 mod6ry 45 5

N EEEEBHEEATER - & R AACR GRS -

e - 3t

KRN T HVEH - TR EIRE EAE - NI AR o

TEHTRIETTE ) THVHEISH & F ] e A — BRI R -

 H AR RIREE BT T 12, WARSREE DAY o DL E HAR R
(ERHGREEREBHIIOT AR E - EREEET-RIE PR esREGET B A N EE -
~ FIFHER 2] ~ [EH 49455 - PR eI AR EXCEL 515 EIRAVRTRE » 3%t T

RRSFHY TERTIEZS 5 B TR 21 - AR T M P e SRl i -

EHr-RIE AP FREIETEL -

[EE 2+ FRPRERS] Bt p BEH O n~ | BEAE > & pxl=n+2 ~I<p >

S,(txs,p)=4 > Htpr~ s=a-C7" ~ a=1,3,5-,p=-2~ j=0,1--[-1

28



[EH 4 HHEER 28] 5 p BER D n BERB Wign+1=pxI > p>1 ~ | Ryar8

La=p'+1 > b=p =1 {IS,((C"Y,p)=2a ~ S,(~(C").p)=2b ,gq:izo,l,...,$ :
a _ b -1 .
((Cll) p) 3 Sn( ((jlll)z’p):E ’,E:—EPI=T :
S, (C'xCp)=4a ~ 5,(~C'xC p)=4b > Hefri> j ~ i j=0.1, %:
=1 il =1 il [-3 -1
S(CTxCp)=2a ~ §,(-CTxCTp)=2b > Hiti= 0,1 s =

[EEE 5 : mod2] 5% n B HEAIRIRIE Ry n=(m,--m,my), » Htm e{0,1} > i=0,1,-k <
La=mg++m+my o HIS (1,2)=4 ~ §,(0,2) = (n+1)* -4

[EFE 7 : mod3] 3 n WY=MEMIFoRERn=(m., - m,my), » Hrfim €{0,1,2} » i=0,1,--k °
Soa Fym =200~ b Bym, =109KE > HIS, (2,3)=2x4"" (9" -1) -

S, (1,3)=2x4""%x(9" +1) ~ §,(0,3)=(n+1)> =9 x4" -

[EH 9 mod5] 3% n WM FRTIE Ry n = (mg,m_,,....my)s » Hf

mi6{0,1,2,3,4},i:(),1,...,kova b~c~dirRlBm =4~3~211JKE

S,(1,5) =27 (5 (3 + D)+ 2+ +(2-i))

2a
S (2,5) =222 (5% . (3% 1) —i(2+i)* +i(2 - 1)20)

d

| ,
S,(3,5) =277 (5% (3 =D +i(2+i)* —i(2—i)*)

{

b=0>Hl

S,(4,5) =27 (5 - (3 + 1) =2+ —(2-i)*)

Sn (1,5) = D2d+4b=2 32¢ 52a 4 H2d+2b-2 ((1 + l-)2b Q2 _l-)Zc +(1 _l-)Zb 2+ l-)2c)

Sn (2’ 5) — 22d+4b72 . 32c A 52(1 + 22d+2b 2, (1 + l)2b (2 20 (1 l)2b (2 + 1)20)
&b=1 Hl .

Sn (3, 5) — 22d+4b—2 . 32c . 520 + 22d+2b -2 ( (1 + l)2b (2 l)2c + (1 l)Zb (2 + l)2c)
Sn (4,5) = 92d+4b=2 32c g2a _ 52d+2b-2 ((1 + l)2b (2— Z)ZC +(1- l)zb 2 +l)2c)

[EEE 10 © modd] 3% n 6 “HERIFTIEFyn = (my,ymy,my), » Eerfim e{0,1} » i=0,1-k ¢
& B(n)=m, +-+m,+my ~ C(n) Fym, (THEFIHER 10 (9B~ D(n) By m, (THEFIHER 11 19

:j—'\%z ° %D(n) =0 > g[J Sn(1’4) - 4B(n) N Sn(2’4) — 2C(n)><43(”) R Sn (3,4) =0 ;

, B+ R B2
#=Dn)>0 > § (1,4)=4 285 (2,49)=C(n)x4 - S (3,4)=4 Z o
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= SR A RS AR 7
Cr =2 G " G e x Gl X G mod p!

;E\:E’jsz(mka"'amlvmo)pn N nOE{O,l,"‘,pn—l} N n,‘e{oala"'apn_](pn_l)} N i:192537"'5k ° Hﬁ

0 1 1 2n+l1 3n+l k—1 1 \ —
Et=ny-p’+n-p +n,-p" +n - p? n p" T +etn, S Dl =(ny,c o ny,ny) TR

il ~ SE R R A

[IREAES T L 106 S2EEEREE D NEREEEEST -
http://'www.ceec.edu.tw/AbilityExam/AbilityExamPaper/106SAT Paper/106SAT_ PaperIndex.htm

[2]WOLFRAM & & A EHELEE © https://www.wolframalpha.com/

[BIEFF/TE1994) - BT R=APAv&EEE - RE2HE AT 275 8 -

[A]FsES - B =ATPAYFERT 11 (The Application of Pascal Triangle II) e
http://highscope.ch.ntu.edu.tw/wordpress/?p=39091

[5]Geometry of Binomial Coefficients ° https://www.stephenwolfram.comy/.../geometry-binomial-coefficients.pdf

[6]Lucas's theorem © https://en.wikipedia.org/wiki/Lucas%27s_theorem

[71K. S. Davis and W. A. Webb, Pascal’s triangle modulo 4, Fibonacci Quart., 29(1991),79 - 83.

[8]A. Granville, Arithmetic properties of binomial coefficients. I. Binomial coefficients modulo prime

powers, in Organic mathematics (Burnaby, BC, 1995), 253 - 276, CMS Conf. Proc., 20, Amer. Math.
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e 2
ST B4 IR T AR T B TE T2k » DL TR RIETH ) o « W TE T A4 & B bR 11

R B FRAVESE T - e R ENB I TR EBAE e — S RIE I T BOKTPREAS] R T
MRS £, - FPIFIF Lucas’s Theorem Jo(1+x)" RS (GBS RETE A FER AW B0 T E » F5E T i LB A e LA
RO e (RO T3 3 LT3 T — (S B A S B B B AR A A R -

=~ WHFeEng

TR A PN A A RS - AR - T - A AR E o SR T U - B T I A
EELHEE R 9 | RS - T~ /7 ~ AAENGE - BT US4 TETTAEIETY o BE B
o 2'— 6ff ; TR 7%2, S
Ok T U A UJE!SETT&?%&&% =

ERRIIALAIING | RIS - SRIBNE) n R B E T L AS TR f

N1

lU-'Jl\

Voo ay e

b/

=61 ; [ NAEH T H41=24%¢
9

NI

iXC:XCZ , /ﬁ;[ja:n_|x+y| . b:n_ x—y|

RHBEEN n KR A5 B AT A 1 EASG T RE AR BRI —EZRAS - WRHILRAS feis 45 1= LL ' n FEEHTRIETTH § 2K
a4 o JALAE Eﬁﬁfi*ﬁﬁu EEBH— ZRFIRVITE o AR i BRI S B Mk 1 — 2 EA 2IAE R Bt
B AEHT- R E 2] 2K |

| I~
-%'Fv
il

|-~

N1

CSC{; C:C]” C:C:
Clncg Cl"C]” ClnC:
C:Cg C:C]n C:C:

= ¢ BkE) 6 TIRHAVIEH =0 n [EEHTRIETTH 5 (nth Pascal square)

A\~ e HEY

& - ST A

{h~ WH5E4E R

— ~ B REG P HRHE T
Ln fEEHrRIETGEIHAE (n+ D) B8 > &IN5

%@f C)CK«X+M%m+q(q+WH$Hm+Q(Q+m+Q)
(C 4t C)(C 4t CT) =272 = 4
2 TR, ¢ BT o 4 0 IS REE - (S E S
/AP (BRSNS T IhHa-e-h-d=b-c-g- | °
B RE A B
1. " BORHFREZRS ) BAHRB R




FAME 4 3TMI3 15HYESE 37 (SR IE A4 13 PRAVEREFTE HAVE - Bz ZoR T E RS 3 AR E -
B —YE © n+l=(p-Dxl+l-1= pxl=n+2 > HEFEAEERIVEIE M51,-2,3,-4,--,~(p - 1) ° &FILIE AR
BREUA M E YRR NET O M TR 6 M TR T, PR e

TEEN AR E D REBEE e[tz 233[z3]z]o0 )
ylalals ol {33104z ||tz 23 33300
slalalsloli]3]s]1lo]z]4a]4]: et lz2]2]3]3[z3]zlo]o0
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